Phys 661 HW 1 Solutions

Problem 1 – Juehang Qin

PHY) 661 HWI

I DEHANG QN

1. a)

Ho h,
$$\psi^{(i)}_{loo} + V^{(i)}_{loo} = E^{(i)}_{loo}\psi^{(i)}_{loo} + E^{(i)}_{loo}\psi^{(i)}_{loo}$$

Let up first compute $E^{(i)}_{loo}$.

$$V = \frac{1}{8} = -8 = -8 = 7 \cos \theta$$

$$E^{(i)}_{loo} = \frac{1}{8} = \frac{1}{8} \int_{0}^{80} \int_{0}^{2} z^{2} \int_{0}^{10} r^{3} s \sin \theta \cos \theta e^{-27/4a} d\theta d\theta^{2} dr = 0 \text{ (from } \theta : -teph.)$$

$$\therefore H_{0}^{(i)} = \frac{1}{8} \int_{0}^{80} \int_{0}^{2} z^{2} \int_{0}^{10} r^{3} s \sin \theta \cos \theta e^{-27/4a} d\theta d\theta^{2} dr = 0 \text{ (from } \theta : -teph.)$$

$$\therefore H_{0}^{(i)} = \frac{1}{8} \int_{0}^{80} \int_{0}^{10} z^{2} \int_{0}^{10} r^{3} s \sin \theta \cos \theta e^{-27/4a} d\theta^{2} dr = 0 \text{ (from } \theta : -teph.)$$

$$\therefore H_{0}^{(i)} = \frac{1}{8} \int_{0}^{80} \int_{0}^{10} z^{2} \int_{0}^{1$$

We can thus futor out the coso term.

$$\left(-\frac{t^2}{2m}\left(\frac{1}{r^2}\frac{\partial}{\partial r}\left(r^2\frac{\partial}{\partial r}\right)\right) - \frac{e^2}{r^2} - \epsilon_{g.s.}\right) \frac{R}{4rgs} = \pi V_0 * Ne^{-8/a}.$$

 $N = \frac{1}{\sqrt{n!} a_0^3 / 2}$

$$-\frac{\hbar^2}{2m}\left(\frac{1}{m}\left(\frac{\partial}{\partial r}\left(n\frac{\partial R}{\partial r}\right)\right)-\frac{e^2R}{r}-\xi_{gs}R=FV_0rNe^{-y_0}$$

$$\Rightarrow -\frac{t^2}{2m}\left(\frac{1}{Y^2}\left(2r\frac{\partial R}{\partial r}+Y^2\frac{\partial^2 R}{\partial r^2}\right)\right) -\frac{e^2R}{Y} - \epsilon_{gs}R = \bar{m}V_{of}Ne^{-Y_{oo}}$$

=)
$$-\frac{t^2}{2m_e} \left(\frac{2R'}{r} + R'' \right) + \frac{dR}{dt} \left(\frac{e^2}{2a_o} - \frac{e^2}{r} \right) R \triangleq V_o N r e^{-\frac{r}{4a_o}} = 0$$

that results if k72

il

The natural mits: h=1

$$a_0 = \frac{1}{m_e e^2}$$
 $\Rightarrow m_e = \frac{1}{a_0 e^2}$

$$\frac{R''}{2} + \frac{R'}{r} + \left(\frac{1}{a_0 r} - \frac{1}{2a_0^2}\right) R = \frac{E}{ea_0 r_{1} r_0} r e^{-v_{a_0}} = 0$$

R= # (11 a03)-1/2 = (aor + 12 x2) e-1/a.

howestly, I had to lookit up.

The That diff. eq was impossible to solve without guessing at the form!

Ψ(1) Υ₁₀₀ (r, θ, θ) = ω (πα₀) - ν₂ Ε Capr + ½ 12) e - γ/ω cos θ

 $\widetilde{\psi} = \psi^{(0)}_{100} + \psi^{(1)}_{100} = \frac{1}{1500} e^{-7/40} = \frac{1}$

$$= \frac{1}{\sqrt{\pi} a_0^{3/2}} e^{-\frac{r}{4}a_0} \left(1 \sqrt{\frac{E}{e}} \left(a_0 r + \frac{r^2}{2} \right) \cos \theta \right)$$

deputure is coso.
Thus, we con integrate
in an cylindrical coords.

We know that the dip he moment is z-oriented.

D=-egroup

 $-\hat{e_{3}}\left\langle \widehat{\Psi}\left|r\cos\theta\right|\widehat{\Psi}\right\rangle = -\hat{e_{3}}\int_{0}^{\infty}\int_{0}^{2\pi}\int_{0}^{\pi}\frac{1}{\pi\,a_{0}^{3}}e^{\frac{2r}{a_{0}}}\left(1\widehat{\#\frac{E}{e}(a_{0}r+\frac{r^{2}}{2})\cos\theta}\right)^{2}r^{3}\cos\theta\sin\theta\,d\theta d\theta dr$ this tomortisppens.

 $\frac{2e\hat{s}}{\pi a_0^3} \int_0^{\infty} \int_0^{2\pi} \int_0^{\pi} e^{-\frac{2\pi}{a_0}} \frac{E}{e} \left(a_0 r + \frac{r^2}{2}\right) \cos\theta \sin\theta r^3 d\theta d\theta dr$

Er tems anopped.

= $\frac{8e8}{3a_0^3}$ $e^{\frac{2r}{a_0}}$ $e^{\frac{2r}{a_0}}$ $e^{\frac{2r}{a_0}}$ $e^{\frac{2r}{a_0}}$ $e^{\frac{2r}{a_0}}$

$$=\frac{8e\hat{g}^{E}}{3a_{0}^{3}e}\left(\frac{27a_{0}^{6}}{6}\right)=\frac{9eE\hat{g}^{2}a_{0}^{3}}{2} \qquad (units are correct.)$$

() $\vec{p} = \frac{q}{2} a_0^3 \vec{E}$ $\alpha = \frac{q}{2} a_0^3$ this is a bonur limit, due to reglecting \vec{E}^2 term.

For upper timit, we soseve:

FER

$$=\frac{16a^{\frac{1}{3}}}{3}\sum_{n>1}\left\langle 1001 \text{ remolnio}\right\rangle \left\langle 1001 \text{ remolnio}\right\rangle =\frac{16a^{\frac{1}{3}}}{3}\sum_{n>1}\left\langle 1001 \text{ remolnio}\right\rangle =\frac{16a^{\frac{1}{3}}}{3}$$

Problem 2 - Yicheng Feng

```
2. a) The first order correction of energy is E_n^{(1)} = \langle n|V|n \rangle
                                          x = \sqrt{\frac{\hbar}{2m\omega}} (a + a^{\dagger}) (: Ho is the Hamiltonian of 1-D harmonic oscillator)
                                      E_n = \langle n|V|n \rangle = \left(\frac{h}{2m\omega}\right)^2 \langle n|(a+a^+)^4 \langle n \rangle
                                                                            = \lambda \left(\frac{\hbar}{2m\omega}\right)^2 \langle n| \left(a^2 + a^{\dagger^2} + aa^{\dagger} + a^{\dagger}a\right)^2 | n\rangle \qquad \left(a^{\dagger}a = N \quad \left[a, a^{\dagger}\right] = 1 \Rightarrow aa^{\dagger} = N + 1
                                                                         = \lambda \left(\frac{\hbar}{2m\omega}\right)^{2} (n) (a^{2} + a^{2} + 2N + 1)^{2} (n) = \lambda \left(\frac{\hbar}{2m\omega}\right)^{2} (n) \left(a^{4} + a^{4} + (2N + 1)^{2} + a^{2} (2N + 1) + (2N + 1)a^{2}\right)
                                                                       = \lambda \left(\frac{h}{2m\omega}\right)^{2} \langle n | \left(a^{\frac{4}{4} + a^{\frac{4}{3}} + (2N+1)^{2} + a^{2}a^{2} + a^{2}a^{2}}\right) | n \rangle
                                                                        = \lambda \left(\frac{h}{2m\omega}\right)^{2} \left( (2n+1)^{2} + (\sqrt{n+1} \sqrt{n+2})^{2} + (\sqrt{n+1} \sqrt{n-1})^{2} \right)
                         \lambda = \frac{1}{2} \left( \frac{h}{2m\omega} \right)^2 \left( 1 + 2 + 0 \right) = 3\lambda \left( \frac{h}{2m\omega} \right)^2
                                     E_{i}^{(j)} = \lambda \left(\frac{\hbar}{2m\omega}\right)^{2} \left(9 + 6 + 0\right) = 15\lambda \left(\frac{\hbar}{2m\omega}\right)^{2}
                                       E_2^{(1)} = \lambda \left(\frac{\hbar}{2m_{to}}\right)^2 \left(25 + 12 + 2\right) = 39 \lambda \left(\frac{\hbar}{2m_{to}}\right)^2
    b) Normalize \psi(x) : \int_{-\infty}^{+\infty} dx \ \psi^{*}(x) \psi(x) = 1

\therefore 1 = |A|^{2} \int_{-\infty}^{+\infty} dx \ e^{-ax^{2}} = |A|^{2} \sqrt{\frac{\pi}{a}} \quad \therefore A = (\frac{a}{\pi})^{\frac{1}{4}} \quad \therefore \psi(x) = (\frac{a}{\pi})^{\frac{1}{4}} e^{-\frac{1}{2}ax^{2}}

(\psi|H)\psi = \int_{-\infty}^{+\infty} dx \int_{-\infty}^{a} e^{-\frac{1}{2}ax^{2}} (-\frac{h^{2}}{2m} \partial_{x}^{2} + \frac{1}{2}m\omega^{2}x^{2} + \lambda x^{4}) e^{-\frac{1}{2}ax^{2}}
                                                                         = \int_{-\infty}^{+\infty} dx \int_{\overline{m}}^{\overline{m}} e^{-\frac{1}{2}ax^{2}} \left[ -\frac{h^{2}}{2m} \left( -a + a^{2}x^{2} \right) + \frac{1}{2}m\omega^{2}x^{2} + \lambda x^{4} \right] e^{-\frac{1}{2}ax^{2}}
= \frac{ah^{2}}{2m} + \frac{1}{h^{2}} \left( \frac{m\omega^{2}}{2a} - \frac{h^{2}a}{2m} \right) \int_{-\infty}^{+\infty} d\xi e^{-\frac{1}{2}\xi^{2}} + \frac{1}{h^{2}} \frac{\lambda}{a^{2}} \int_{-\infty}^{+\infty} d\xi e^{-\frac{1}{2}\xi^{2}} d\xi e^{-\frac{1}{2}ax^{2}} d\xi e^{-\frac
                (\psi|\mu|\psi) is a function of a \frac{\partial(\psi|\mu|\psi)}{\partial a} = \frac{\hbar^2}{4m} - \frac{m\omega^2}{4a^2} - \frac{3\lambda}{2a^3} = 0
  is small . We minimize the first two terms of (\frac{1}{4}) \frac{1}{4} \frac{1}{4
   i. Approximately, the ground state energy is about ( thut 3th 2 min x)
```

```
c) let \rho = 0 H = E, the Hamiltonian will become : E = \frac{1}{2}m\omega^2\chi^2 + \lambda\chi^4

\therefore \chi^2 = -\frac{m\omega^2}{4\lambda} \pm \frac{1}{2\lambda} \sqrt{\frac{m^2\omega^4}{4} + 4\lambda E} \therefore \chi^2 \ge 0 \therefore \chi^2 = \frac{1}{2\lambda} \sqrt{\frac{m^2\omega^4}{4\lambda} + 4\lambda E} - \frac{m\omega^2}{4\lambda}

(\lambda > 0) = 0 \therefore \chi = -\infty
        Now let p30, H = E, so p(x) = \sqrt{2mE - m^2w^2\chi^2 - 24m\chi^4}
     2\pi \left(n + \frac{1}{2}\right) h = \int_{x}^{x_2} p(x) dx = 2 \int_{0}^{x_2} \sqrt{2mE - m^2 \omega^2 \chi^2 - 2m \lambda \chi^4} dx
        From the printegral above, we can get the energy eigenvalue
        For the energy eigenstates, we write the Schrödinger equation first.
         -\frac{\hbar^2}{2m}\partial_x^2\psi + \nabla\left(\frac{1}{2}m\omega^2x^2 + \lambda x^4\right)\psi = E\psi
        Let V = e^{S(b)}, we can get: -\frac{\hbar^2}{2m}(S''(x) + S^2(x)) + \frac{1}{2}mw^2x^2 + 1x^4 = E
        we assumpe that S'(x) &>> S"(x), and then can get
        \partial_{x}S \simeq \pm i \sqrt{\frac{2n}{\hbar^{2}}(E - \frac{1}{2}m\omega^{2}\chi^{2} - \lambda\chi\psi)} = \pm i kix
     Thus, This is the linear combination of eiskindr' and e-isk k(x') ax'
        where En is determined by the formula (50)
  evaluate the integral (*) x_1^2 = \frac{1}{2\lambda} \sqrt{\frac{m^2 w^4}{4} + 4\lambda E} - \frac{m w^2}{4\lambda} = \frac{1}{2\lambda} \frac{m w^2}{2\lambda} \sqrt{1 + \frac{16\lambda E}{m^2 w^4}} - \frac{m w^2}{4\lambda} \approx \frac{m w^2}{4\lambda} (1 + \frac{1}{2} \frac{16\lambda E}{m^2 w^4}) - \frac{m w^2}{4\lambda} = \frac{2E}{m^2 w^4} + 4\lambda E - \frac{m w^2}{4\lambda} = \frac{2}{2\lambda} \frac{m^2 w^4}{2\lambda} + \frac{1}{2\lambda} \frac{16\lambda E}{m^2 w^4} + \frac{1}{2\lambda} \frac{16\lambda E}{m^2 w^4} - \frac{m w^2}{4\lambda} = \frac{2E}{m^2 w^4} + \frac{1}{2\lambda} \frac{16\lambda E}{m^2 w^4} + \frac{1}{2\lambda} \frac{16\lambda E}{m^2 w^4} - \frac{1}{2\lambda} \frac{16\lambda E}{m^2 w^4} + \frac{1}{2\lambda} \frac{16\lambda E}{m^2 w^4} - \frac{1}{2\lambda} \frac{16\lambda E}{m^2 w^4}
                       (use the approximation: \lambda is small enough.)

\therefore (\star): \gamma(n+\frac{1}{2}) \text{ if } = 2 \int_{0}^{\infty} \sqrt{2mE} \left( \sqrt{1-\S^2} - \frac{\alpha \S^4}{\sqrt{1-\S^2}} \right) d\chi = 2 \int_{m\omega^2}^{2E} \int_{0}^{1} \left( \sqrt{1-\S^2} - \frac{\alpha \S^4}{\sqrt{1-\S^2}} \right) d\xi \sqrt{2mE}
= \frac{4E}{\omega} \int_{0}^{\pi} \left( \sqrt{1-\sin^2 \alpha} - \frac{\alpha \sin^4 \alpha}{\sqrt{1-\sin^2 \alpha}} \right) d(\sin \alpha) = \frac{4E}{\omega} \int_{0}^{\pi} \left( \cos^2 \alpha - \alpha \sin^4 \alpha \right) d\lambda
= \frac{4E}{\omega} \left( \frac{\pi}{4} - \frac{1}{76}\pi \alpha \right) \implies E\left( 1 - \frac{3\lambda}{2m^2\omega^4} E \right) = (n+\frac{1}{2})\hbar\omega.
 in after some reasonable approximation: — En = keep to the first order of \lambda; E_n = (n + \frac{1}{2}) \hbar \omega \left[ 1 + \frac{3\lambda}{2m^2\omega^4} (n + \frac{1}{2}) \hbar \omega \right]
                 \therefore K_n(x) = \frac{1}{h} \sqrt{2m} \left( E_n - \frac{1}{2} m \omega_{x^2} - \lambda x^2 \right) \qquad \psi_n(x) = A e^{i \int_0^x k_n(x^1) dx^2} + B e^{-i \int_0^x k_n(x^1) dx^2}
        energy of the ground state: (keep to first order of )
in a) E_0 = \frac{1}{2}\hbar\omega + E_0^{(1)} = \frac{1}{2}\hbar\omega + 3(\frac{\hbar\omega}{2n\omega})^2\lambda

in b) E_0 = \frac{1}{2}\hbar\omega + \frac{3\hbar^2}{4m^2\omega^2}\lambda

in c) E_0 = (0+\frac{1}{2})\hbar\omega \left[1 + \frac{3\lambda}{2m^2\omega^2}(0+\frac{1}{2})\hbar\omega\right] = \frac{1}{2}\hbar\omega + \frac{3\hbar^2}{8m^2\omega^2}\lambda
  The results in as b) are the same, but c's is different from as and b)
  However, the first order corrections only differ by a factor 2 between those results
  c) is only valid when energy is righ, so for ground state, WKB could work bootly poorly
```